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Annex 

(𝑎𝑎 − 𝑏𝑏)(𝑎𝑎 + 𝑏𝑏) = 𝑎𝑎2 − 𝑏𝑏2 

𝐿𝐿𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐𝑐 = 2𝜋𝜋𝜋𝜋 

 



Nr. Items Score 

 
1. Fill in the box so that the statement becomes true. 

“If  𝑎𝑎 = −5 + 7  and  𝑏𝑏 = 3
2
∙ 4

6
,  then the value of the difference 𝑏𝑏 − 𝑎𝑎  is the 

number              .” 

 
L 
0 
3 

 
2. 

 
The length of a circle with the centre 𝑂𝑂, represented on 
the picture, is equal to 4𝜋𝜋 cm. The point 𝑂𝑂 lies on the 
chord 𝐴𝐴𝐴𝐴. Determine and write in the box the length 
of the chord 𝐴𝐴𝐴𝐴.   
 

𝐴𝐴𝐴𝐴 =                 cm.                

   
L 
0 
3 

 
3. On the picture, the graph of the function  

𝑓𝑓:ℝ → ℝ, 𝑓𝑓(𝑥𝑥) = 𝑎𝑎𝑎𝑎 + 𝑏𝑏, 
is represented. 
Using the picture, fill in the box with one of the 
following expressions “a positive number” or “a 
negative number”, so that the statement becomes true. 

“The zero of the function  𝑓𝑓 is  

                                                                              .” 
 

 
L 
0 
3 

 
4. Maria has the purpose for reading a book of 300 pages during the holidays. On the first 

day of holidays she read 45 pages. Express as a percentage the number of read pages 
out of the total number of pages of the book. 
Solution: 

 
 
 

 
 
 
 
 
 
 

 
 
 
 

 
 
 
 

 
Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
 



 
5. Calculate:  

2
√7−3

+ √7 + 4.  
Solution: 
 

 
 
 
 
 
 
 
 

 
Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
 

 
6. Let 𝐴𝐴 be the set of real solutions of the equation 4𝑥𝑥2 + 3𝑥𝑥 − 10 = 0. Determine the 

set  𝐴𝐴 ∪ {−2; 0}. 
Solution: 

 

 

 

 

 

 

 

 
Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
 

7. The length of the base 𝐴𝐴𝐴𝐴 of an isosceles triangle 𝐴𝐴𝐴𝐴𝐴𝐴 is equal 
to 24 cm. The perimeter of the triangle is equal to 50 cm. 
Determine the length of the altitude from the vertex 𝐵𝐵 to the 
base AC.  
Solution:  

 

 

 

 

 

 

 

 

Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
5 
 



 
8. There are 21 roses in a vase. The roses are red colored and white colored. The number of 

red roses is three more than twice the number of white roses. Determine the number of 
roses of each colour in the vase.  
Solution: 

 
 
 
 
 
 
 
 
 
 
Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
5 
 

 
9. Consider the function  𝑓𝑓:ℝ → ℝ, 𝑓𝑓(𝑥𝑥) = −3𝑥𝑥 − 2. Determine the real values of 𝑥𝑥, 

such that  𝑓𝑓(𝑥𝑥) < 𝑓𝑓(0) − 1. 
Solution: 

 
 

 
 

 
 

 
Answer: 𝑥𝑥 ∈ ___________________________________________________. 

 
L 
0 
1 
2 
3 
4 
5 
 

 
10. A swimming pool is shaped as a regular quadrangular prism with the height of 2 m and 

the side of the base of 4 m. When installing ceramic tiles on the walls and on the floor 
of the swimming pool some adhesive is used. A bag with tile adhesive is enough to 
cover a surface of 4 m2. Determine the number of bags with adhesive required for 
installation the ceramic tiles.  
 Solution:  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
 

 
 
 

 
 
 
 



 
11. Find all natural values of  𝑋𝑋, for which the value of the expression  

𝐸𝐸(𝑋𝑋) =
𝑋𝑋2 + 2𝑋𝑋 − 8
𝑋𝑋2 − 2𝑋𝑋

−
𝑋𝑋 + 2
𝑋𝑋

 

is a natural number. 

Solution: 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
5 
6 
 

 
12. Consider the function 𝑓𝑓:ℝ → ℝ, 𝑓𝑓(𝑥𝑥) = 𝑚𝑚 𝑥𝑥2 + 2𝑥𝑥 + 1, 𝑚𝑚 ≠ 0. Determine all 

real values of  𝑚𝑚, such that the graph of the function 𝑓𝑓 is a parabola with upward arms, 
which intersects the axis of abscissas in two distinct points.  
Solution: 

 

  

 

 

 

 

 

 

 
 

 

 

 

 
Answer:__________________________________________________________. 

 
L 
0 
1 
2 
3 
4 
 


